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Multiple Choice 

Identify the choice that best completes the statement or answers the question. 

 1.  Name the shape that has 3 closed sides. 

a. square c. circle 

b. triangle d. oval 

  

 2.  Name the shape that has 4 equal and closed sides. 

a. trapezoid c. octagon 

b. rectangle d. square 

  

 3.  Name the shape that has 4 closed sides where two parallel sides are longer than the other two 

parallel sides. 

a. rectangle c. oval 

b. octagon d. trapezoid 

  

 4.  Name the shape with 8 closed sides. 

a. rectangle c. octagon 

b. oval d. square 

  

 5.  Name the shape that has 6 closed sides. 

a. trapizoid c. septagon 

b. hexagon d. pentagon 

  

 6.  Which shape is a pentagon? 

a. 

 

c. 

 

b. 

 

d. 

 

 


